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J Algebra 2
11.4-11.5 Review

« True/False (#1&2): If false, underline a part of the statement, then change what you underlined to correct the
statement.

1. To calculate a z-score for a data value in a normal distribution, you only need to know o . # AN

1: 2. All normal data values fall within + three standard deviations from the mean.

Qa1 7. F

Circle the correct answer (#3&4):

3. If you increase the size of your sample, then the margin of error will increase oircle).

4. If your sample has a larger standard deviation. then the interval will @or decrease (circle).

Fill in the blank (#5& 6):

5. Ifa population standard deviation is 2.5, the margin of error for a sample of 100 data points at a 95% level
of confidence is

6. If the population mean for the data described in question 5 is 4.5, the reasonable range of means is between

and (=
[—

7. The heart rate of a random sample of people is approximately normally distributed. The mean heart rate is
73 beats per minute (BPM) and the standard deviation is 6 BPM.
a. Fill out the normal curve below based on the given information.

b. Since the data is normally distributed:
- 68% of data values are between (| and 7_6? bp 4

95% of data values are between !Q S and 96b WAL
99.7% of data values are between 65 and ﬂl

6% I 7 13 19 99 4l

¢. According to Runner’s World magazine, an elite marathon runner can have a resting heart rate as low as
38 BPM. What is the z-score for someone who has this resting heart rate?

= 56“[;% = —5.93%

d. Stress and illness can affect your resting heart rate. Suppose you had a cold during finals week, and your
resting heart rate was 85 BPM. What was your percentile ranking at that time?

S0/ + 34l +13.6/ =915/

41.5" percunh e

e. Shade on the normal curve the percentile rank of your answer from part d.

f. IE3, OOO/)eop ¢ were sampled, how many have a resting heart rate between 61 and 79 BPM?

T P9/ 3%/ 434/ =eley.
3000 (:219) = 2,445 peoplL



8. Ryanis 576" and weighs 185 Ibs. Ryan wants to know if he is in a higher percentile for height or weight
He researches the average height and weight for American males, and finds the average adult male is
579.57 tall with a standard deviation of 27, and the average adult male weighs 195.5 Ibs with a standard

deviation of 7.5 Ibs. Assuming the data is normally distributed, which has a higher percentile, Ryan’s -
height or weight? Show work to explain your answer.
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9. Ona _partic‘ular standardized assessment in Geometry, Mrs. Karpenko noticed the data was normally distributed

Her sixty-four students’ had a mean score was 76%, and the standard deviation was 9%.
a.

[f a student’s z-score was -1.44, what was their score on the assessment? (Round to the nearest percent.)

~(Ht = X=Te AC-THY )Y Hle =X

b. 99.7% of Mrs. Karpenko’s students scored between what two values?

4a /. aund 0%/

— ‘L b | i | }
7. 1 2% . . .
The'School district finds the mean for all Geometry students in the district on the same standardized

assessment was 78% with a standard deviation of 6%. Mrs. Karpenko wants to be sure her sample mean

falls within the range of reasonable means at a 95% confidence level. Find the range of reasonable means
and decide if Mrs. Karpenko’s data is within that range.
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d. Mr. Blaskie boasts during lunch that his 64 students’ mean score was a 90%. Would you believe him? Use
your work from part ¢ to support your answer.
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